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51)  Fill in the blank with the most suitable 'Reflexive’ pronoun :

"Theking ........ was there."

1) him 2) himself 3) himselves 4) themselves
52) Choose the appropriate alternative :

“Imethimat...... church."

1) the 2)a 3) an 4) No article
53) Choose the word which best expresses the meaning of the given expression :

"A place of luggage at a railway stations." : »

1) Arena 2) Cage 3) Arsenal - 4) Cloakroom
54) Identify the underlined ‘clause’ in the sentence. : :

"You may sit wherever you like."

1) Adverb Clause of Place 2) Adverb Clause of Time

3) Adverb Clause of Manner 4) Adverb Clause of Purpose
55) Choose the one which can be substituted for the given sentence: -

"To atone for one's sins." ' v,

1) Cancel 2) Repeal ~ 3) Obliterate 4) Expiate
56) Choose the correct use of 'so ..... that' in the following sentence : =

"The woman was too weal to carry a bundle of wood on her head."

1) The woman was so weak that she can't carry a bundle of wood on her head.

2) The woman is so weak that she can't carry a bundle of wood on her head.

3) The woman is so weak that she couldn't carry a bundle of wood on her head.

4) The woman was so weak that she couldn't carry a bundle of wood on her head
57) Choose the appropriate alternative.

"Shehasa...... character." :

1) blotless 2) flawless 3) faultless 4) spotless
58) Find out which part of the sentence has an error : £

"Krishnan and he have / a mutual friend / in Pune / No error.”

A B C D
DA 2)B »ne - 4HD
59) Choose the 'Grammatically' correct sentences : ' ;
1) She is not as wise as her brother. 2) She is not equally wise as her brother.
3) She is not as wise like her brother 4) She is not so wise as her t_a_rbther

'60) Choose the correct Punctuated’ sentence :
1) I study, Hindi, Marathi, English and Sanskrit.
2) I study, Hindi, Marathi, English and Sanskrit.
3) I study, hindi, marathi, English and Sanskrit.
4) I study, Hindi, marathi, English and Sanskrit.
61) Choose the correct 'Degree’ sentencé for the given sentence :
"No other planet is so big as Jupiter." _ =
1) Jupiter is bigger than any other planet. 2) Jupiter is bigger than most other planet.
3) Jupiter is biggest than any other planet. 4) Jupiter is the biggest than most other planet.
Read the following passage and answer the questions by selecting the most appropnate
alternatives : (Q. No. 62 to 71)
Our body is a wondrous mechanism and when subjected to unusual stress ¢ over a period of
time, it adapts itself to deal more effectively with the stress. Therefore, when you exert your muscles
against resistance, they are forced to adapt and deal with this extraordinary workload This is the



principle of weight Lramlng Strands of muscle fibres become thlcker and sl:mnger in response to
the demands placed on them. '

One of the great merits of weight trammg is the strength of your heart. Durmg waght training,
your heart is forced to beat faster and stronger in order to pump sufficient blood to the muscles
being worked. In time, your heart, like your body, will adapt to this extra-workload by becoming
stronger and more efficient. Since your body needs a given amount of blood to perform its daily
tasks your heart will now need fewer beats to pump the same quantity of blood. Sounds good?
There's more. Your circulatory system is given a thorough workout everytime your exercise, which
increases its overall efficiency. Even the neural paths from your brain’s command centres to each

individual muscles become more effective, enabling easier recruitment of muscles fibres for carrying

~ out physical tasks. In essence, your body becomes a well-oiled and finally tuned piece of machinery
whirring along without any breakdown. In today's stress filled world, you need ail the help you can
get. o
62) Inthe presen_t world, the importance of physical exercise has :

Dincreased  2) decreased 3) remained at the same level  "4) none of these
63) How much blood does the heart pump at the same number of heartbeats, when exposed to
' excessive stress?

1) Same quantity 2) Less than before 3) More than normal 4) None of these

64)  What does the above passage suggest?

1) We should carry out physical exercise as a routine.

2) Physical exercise is necessary occasionally.

3) We should ignore physical exercise. -

- 4) We should subject our body to as much exercise as it can w1thstand

65)  What affects the nature of muscle-fibres? - -

1) Intetisity of Workload ) Ahmentary System
: 3) Nutrition R 4) Stress imposed on them
66)  What happens to out body due to phys:cal exercise? : :

1) More efficient "2) Less efficient

3) Efficiency of the body remains the same  4) None of these
~67) What is the principle of weight training? _
1) Adapting the body to muscle force. 2) Adapting muscles to force implied on them.

3) Disposing extra-workload 4) Mechanized response to external conditions

68) © How does the heart become stronger, owing to physical exercise? '
* 1) Through acclimatization . 2) Naturalization :

3) Adapting to excessive workload - 4) By accelerating the circulation of blood.

69)  What does the term 'well-oiled' in the passage denote? -
_ 1) Health 2) Efficient 3) Massaged . 4) None of these

70}  What is the function of the heart? ' L

1) Oxygenation of blood ~ 2) Pumping the blood to the muscles

3) Pumping the blood to capillaries 4) Acceterating the circulation of blood
71)  Which one of the following is the most appropriate title for the passage?

. 1) Health is Wealth ' 2) Exercise - its benefits

3) The mechanics of weight training " 4) How to retain health -
72) Choose the correct 'Questions Tag' E :

"Help me to solve this problem.” - _

1) are you? 2) shall we? 3)aren'tyoun ? 4) will you”
73) Choose the one which best expresses the following sentence in 'Indirect Narration' :

- He said to me. "I shall excuse you for your mistake." '
1) He told me that he should excnse me for my mistake.

2) He told me that he will excuse me for my mistake.

3) He told me that he would excuse me for my mistake.

4} He told me that I would excuse you for you mistake. o
74)  Name the type of the underlined adverb in the following sentenee '

"ILam fully prepared.”



73)

76)

77y

78)

79)

80)

a1)
82)
. 83)
84)
85)
86)
87)
88)
89)
90)

‘91)

l) Adverb of Reason 2) Adverb of Frequency

3) Adverb of Manner ' 4) Adverb of Quantity
Choose the most suitable preposition :

"Send the book ......, my address.” o

D.on 2o 3at

Choose the word which is closest in meaning to the gwen word:
‘Indict’

1) Reprave 2) Cause K7 Catalogue

Choose the correct 'Synonym' of the given word :

‘Fantastic’ )

1) Sensational - 2y01d © - 3) Obscene -
Find the correctly speit word : '

1) Psychology 2) Psychology 3) Psykology

Choose the correct use of "Unless’ in the following sentence.
" If we are not fair to other men, the world cannot be fair to us.”

4) from*
4y Accﬁse

4) Pale

4) Syéhology_

1) If we are not fair to other men unless the world cannot be fair to us. .

2) Unless we are not fair to other men, the world cannot be fair to us,

4) Unless we are fair to other men, the world cannot be fair to us.
Choose the most suitable 'Preposmon

"The dish is not ....... my taste." :

1) for 2}in 3) with

Choose the most suitable alternative :
"It gives me immense pleasure ......... you of her engagement.
1) to inform 2)in informing ~ 3) to informing

Choose the cotrect use of "able to0' in the following sentence :
"Can you play cricket?" -
1) Are able to you play cricket? 2) Are you able to play

_ 3) Unless we are not fair to other men, the world couldn't be fair to us.

4) to

4) to be inform

cricket?
2} Are able you to play cricket? ' 4) Both (1) and (2) '
Choose the correct alternative :
"Idon’t think I ....... be able to go.” : SR
1) can ' 2) should 3) shall 4) could
Choose the one which best expresses the meaning of the given idiom :
Te lose face’ S
1) To look angry 2) To be humiliated 3) To be helpless 4) To look vacant

- Choose the word 'Opposite’ in meaning to the given word :

Ticade' - ’ . .
1) Submit 2) Abuse 3} Praise 4) Help -
Choose the correct form of the verb 1o fill in the blank : o
"Come in now, [ aw sorry ........ you waiting." e
1) to keep 2} for keep 3) kept 4) 1o have kept
Name the type of the underlined noun in the following sentences : D
Wisdom is better than strength, . L
1} Abstract Noun 2) Material Noun  3) Common Noun 4) Collective Noun
Choose the '‘Grammatically Wrong' sentence :
1) 1 shall inform them this - 2} He boarded the train. . :
3) A bunch of keys has been lost. 4) Ask him why he wastes hlS ume

Choose the most suitable alternative in accordance with the correct use of tense.
1} I have been writing six letters since morning. 2) I have writing six letters since merning.

3) I am writing six letters since morning. "4y I wrote six letters
Choose the appropriate alternative : .

"She is ....... Indian artist married o ......... European engineer.”
yan, a . 2) an, an 3) an, the

Name the 'Part of Speech’ of the underlined word :

since morning.

4) the, an



92)

193)

94)

95)

96)

97)

" A fair little girl sat under a tree." et :

_1)Noun - 2) Preposition 3) Adverb “ .. 4) Conjunction
" Choose the suitable alternative. s

"He was ...... to such labour."

1) abled 2) disliked " 3) unaccustomed  4) unwanted

The young one of a hen is ........ e .

1) pullet 2) heifer . 3)eaglet - A filly

Choose the one which best éxpresses the given sentence in Passive Voice : - . . |
"It is the time to buy books." . . o

1) It is the time all the books to be bought ~ 2) It is the time for the book to be bought
3) It is the time for books have been bought 4) It is the time for books to be bought
Find ¢ut which part of the sentence has an error : : .

"He says that/ he has a car / beside a scooter / No error.”

- A B ¢ . .. .D S -
DA 2B . 3c HD ..
Choose the word 'Opposite’ in rneamng to the gwen word : '
"Vital' S o
1) Penpheral - 2) Dead - - 3) Ummportam 4) Outer
Name the type of the underlined adjective in the followmg sentence:

" He showed much patience.” _ oo o
- 1) Adjective of Quality D Adjccnve of Number -
3) Demonstrative Adjective : © 4) Adjective of Quantity - .

'98)
993

100)

909)

902)
1903)

90%)

Choose the appropriate verb form :

. _.."The ¢complicated calculation of advertising elasticity ......... with hundreds of brands."

" 1) is made . 2yhave beenmade 3} has beenmade = 4) is being made
Choose the most suitable word to fill in the blank : ' S o
"He is. £00 wovvesene- to be deceived easily.” _ o
1) strong - 2) intelligent Pkind - .- .. 4 honest

Choose the most sultable alternative to make the sentence logical in sense.
"Piu ....... study after she had been married."

1) shall resumé - 2) resumed 3) have resumed - 4) has resumed
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